

Name: Stells Chiracharam Eusebius Otero

Level: 100

Maths Number: 19/mh001/164

$$1) \frac{11-3x}{x^2+2x-3}$$

$$\Rightarrow \int \frac{11-3x}{x^2+2x-3} dx$$

from the denominator,

$$x^2+2x-3=0$$

$$(x+3)(x-1)=0$$

$$\therefore \int \frac{11-3x}{x^2+2x-3} dx = \int \frac{11-3x}{(x+3)(x-1)} dx$$

Resolving $11-3x$ into partial fraction

$$(x+3)(x-1)$$

$$\frac{11-3x}{(x+3)(x-1)} = \frac{A}{x+3} + \frac{B}{x-1}$$

$$\frac{11-3x}{(x+3)(x-1)} = \frac{A(x-1)}{(x+3)(x-1)} + \frac{B(x+3)}{(x+3)(x-1)}$$

$$11-3x = \frac{A(x-1)}{(x+3)(x-1)} + \frac{B(x+3)}{(x+3)(x-1)}$$

$$(x+3)(x-1)$$

$$(x+3)(x-1)$$

Equating the numerators

$$11-3x = A(x-1) + B(x+3)$$

Put $x=1$

$$11-3(1) = A(1-1) + B(1+3)$$

$$8 = 4B$$

$$B = 2$$

Put $x=-3$

$$11-3(-3) = A(-3-1) + B(-3+3)$$

$$26 = -4A$$

$$A = -5$$

$$\therefore \frac{11-3x}{(x+3)(x-1)} = \frac{-5}{x+3} + \frac{2}{x-1}$$

$$(x+3)(x-1) \quad (x+3) \quad (x-1)$$

$$\int \frac{(11-3x)}{(x+3)(x-1)} dx = \int \left(\frac{-5}{(x+3)} + \frac{2}{(x-1)} \right) dx =$$

$$\int \frac{-5}{(x+3)} dx + \int \frac{2}{(x-1)} dx = -5 \int \frac{1}{(x+3)} dx + 2 \int \frac{1}{(x-1)} dx =$$

$$-5 \ln|x+3| + 2 \ln|x-1| + C$$

2) $\int \frac{4x-16}{x^2-2x-3}$

From the denominator,

$$x^2 - 2x - 3 = 0$$

$$(x+1)(x-3) = 0$$

$$\therefore \int \frac{4x-16}{x^2-2x-3} = \int \frac{4x-16}{(x+1)(x-3)}$$

Resolving $\frac{4x-16}{(x+1)(x-3)}$ into partial fractions

$$\frac{4x-16}{(x+1)(x-3)} = \frac{A}{x-3} + \frac{B}{x+1}$$

$$\frac{4x-16}{(x+1)(x-3)} = \frac{A(x+1) + B(x-3)}{(x+1)(x-3)}$$

$$\frac{4x-16}{(x+1)(x-3)} = \frac{A(x+1) + B(x-3)}{(x+1)(x-3)}$$

Equating the numerators

$$4x-16 = A(x+1) + B(x-3)$$

Put $x=3$

$$4(3)-16 = A(3+1) + B(3-3)$$

$$-4 = 4A$$

$$A = -1$$

Put $x=-1$

$$4(-1)-16 = A(-1+1) + B(-1-3)$$

$$-20 = -4B$$

$$B = 5$$

$$\therefore \frac{4x-16}{(x-3)(x+1)} = \frac{-1}{x-3} + \frac{5}{x+1}$$

$$\int \frac{Ax-16}{(x-3)(x+1)} dx = \int \left(\frac{-1}{(x-3)} + \frac{5}{(x+1)} \right) dx = \int \frac{-1}{(x-3)} dx + 5 \int \frac{1}{(x+1)} dx =$$

$$\Rightarrow -1 \ln|x-3| + 5 \ln|x+1|$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx$$

Resolving into partial fractions

$$2x^2 - 9x - 35 = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{x+3}$$

$$(x+1)(x-2)(x+3) \quad (x+1)(x-2)(x+3)$$

$$2x^2 - 9x - 35 = \frac{A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)}{(x+1)(x-2)(x+3)}$$

$$(x+1)(x-2)(x+3) \quad (x+1)(x-2)(x+3)$$

Equating the numerators

$$2x^2 - 9x - 35 = A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)$$

$$\text{Put } x = 2$$

$$-45 = 15B$$

$$B = -3$$

$$\text{Put } x = -1$$

$$-24 = -6A$$

$$A = 4$$

$$\text{Put } x = -3$$

$$10 = 10C$$

$$C = 1$$

$$\therefore \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{4}{x+1} - \frac{3}{x-2} + \frac{1}{x+3}$$

$$(x+1)(x-2)(x+3) \quad (x+1)(x-2)(x+3)$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx = \int \left(\frac{4}{x+1} - \frac{3}{x-2} + \frac{1}{x+3} \right) dx$$

$$\int \frac{4}{x+1} dx - \int \frac{3}{x-2} dx + \int \frac{1}{x+3} dx$$

$$= 4 \int \frac{1}{x+1} dx - 3 \int \frac{1}{x-2} dx + \int \frac{1}{x+3} dx =$$

$$\Rightarrow 4 \ln|x+1| - 3 \ln|x-2| + \ln|x+3|$$